Whaot Do You Coll Someone Who Can't Turn Pancokes

For each letter pair you DON'T cross out, write the upper

Cross out the letter pair next to each correct solution. [a blcldlel £
case letter in the box containing the lower case letter.
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D 9y + 4 =2y + 25 @ 5n—-2=n+18

b 11 + 8g=3g —19

28 -3 —10x =25 + 4x

I 15a = 6a — 90 € 24 —5d =d

§7Z) Xavier is thinking of a number. Nine more than
four times the number is the same as fifteen less
than twice the number. What is Xavier's number?
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(20 2 +11b=8b + 15

B 7m +32 =12 - m

1 2x = 8x +1 =9 —10x

) 16 — 5y =1 — 4y

~3t -8 +7t =34 4+ 9t — 2

§R) 20 + 3a + 4a = 5a — 18

{9 Yvonne is thinking of a number. Fifty, decreased by
three times the number, is the same as seven times the
number, increased by 80. What is Yvonne's number?
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B 5(x +4) = 7x — 26

5 20 - 9w = 4(15 — w)

6% 2(11 + 3n) =12n

f6) 10 — 4(p +7) =2(1 ~ p)

T 11x = 8x — 3(5 — 2x)

@i Zabato is thinking of a number. Three times the
sum of the number and ten is the same as eight
times the number. What is Zabato's number?
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